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1 Match the correct pair : ; (.7/'
(a) Jasnathji (1) Revasa (Sikar) /.“/) !NPJB cgssg!ﬂ-?;
(by Sheetla Mata (2) Chaksu (Jaipur)
(¢y  Jambhoji (3) Mukam (Nokha)
(d) Jeen Mata (4) Katariasar (Bikaner)
wd e gAad Sivg
(a) e (1)t (det)
(by olieeT AW (2) Y (SER)
(c) sy (3) go (FrEm
(d)y i W (4 TR ()
(A) a4 b2 o3 dl (B) a-l b2 ¢3 d4
() a2 bl c4 d-3 (D) a3 b4 cl1 d2
Z In which area of Rajasthan is Gulabi Gangaur celebrated on Chaitra Shukla 5 ?
(A) Nathdwara (B) Udaipur
(C) Bundi , : (D) Jodhpur
oRaT % A Y 8 A gE 5 @l e R S S ¥ 7
(A) TUERT (B) S}
© & (D) SHEYY
3 Which khayal was composed by Sant Peer Shah Ali and Tukangeer in Mewar 400 years
ago 7 ’ ‘ :
(A) Khayal Bharmali (B) Chand Neelgiri
(C) Turra-Kalangi Khayal (D) Meera Mangal
w7 9% qrEeT A eI A 400 U Tew Fars ¥ fRE e @ e @t ?
(A) T AT (B) TR ARt
(C) T el T (D) A W
4 Which one of the following temples of Rajasthan is rightly matched ?
' (A) Eklingji Temple - Mount Abu (B) Surya Temple - Udaipur
(C) Dilwara Temple - Osian (D) Karni Mata Temple - Deshnoke
frer # U AT U TSN b AheT e gl ¥ 7
(A) THRTON AT — HIETE $ (B) q AR -~ I
(C) eraret WiwY — Sital (D) &I A AT — I
5  Who was the Chief Minister of Ajmer at the time of its merger in Rajasthan ?
(A) Harvilas Sharda (B) Balkrishan Kaul
(C) Haribhau Upadhyay (D) Heeralal Shastri
T ¥ ORI % fawd % g gel 1 gedsl wi ur?
(A) s QTET (B) STEHST hle
(C) wRwrs St » (D) Erwe Qe
6 Who amongst the following was one of the leaders of the Revolt of 1857 in Kota ?
(A) Ali Baig (B) Kushal Singh
(C) Jaidayal - (D) Hiralal
fs ¥ @ @ wrer ¥ 1857 & fagie @ war ar?
. (A) ST T (B) e T4E
, C) SHEdd (D) B
#npikEsiiis |
\'UAls_qu:g?ss PARTNER 2 ‘ ’ ] [P.T.O.
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Veer Satsai, Balvadvilas and Ramranjat were written by : ('/) ".,\I DIRES QE‘TEQ

7

10

11

12

(A) Shyamaldas
(C)  Gauri Shankar Heerachand Ojha

B)
)

AR wE, IOy SR [ F s §

(A) 9TTHEETH

(B)
N \ <
(C) T et e siEm

(D)

The site of Bagore is situated on the bank of river

Suryamal Misran
Jagdish Singh Gehiot

e gy

sy e e

in district Bhilwara.

(A) Luni (B) Banas
(C) Kothari (D) Chambal
g HArerarer e @ 9 ¥ wis gt Rag ¥
(A) el (B) =
(C) @it (D) e

Which Chauhan ruler got the Suhaveshvar Shiv Temple built in Menal ?

(A) Vigrahraj IV
(C) Prithviraj I

(B
)

Apargangeya
Vigrahraj I

At W geasat o wtey w1 Frafo frw dem s W wamn wn?

A) fameas v
(C) Y= 1I

B)
(D)

YT
[EREXSIN

Which one of the following is a source of information about the history of Pratiharas of

© Mandor ?

(A) Sambholi inscription
(C) Bijapur inscription

(8)
(D)

Ghatiyala inscription
Arthuna inscription

frfafaa & 9 BT Tve & wler) & shem ) Smert 2 $7

afearar s
HYYT HAHeE

Which one of the following rulers did not establish matrimonial alliance with Akbar ?

(A) T b (B)
(€) gy st (D)
(A) Bharmal of Amer (B)
(C) Rao Surjan Hada of Ranthambore (D)

Rawal Har Rai of Jaisalmer
Rao Kalyanmal of Bikaner

e & 9 &9 O oEs 7 aeeT § Jalves d9y el 99 R e

(A) FET & 9REA
(C) TR & T Yol &TET

B)
D)

The first floor of Hawamahal is known as :
(A) Ratan mandir (B)
(C) Hawa mandir : (D)
TAMET BT U Hiwe @ A wr E?
(A) T HfER . B)

© R @lNDlRESULTE (D)
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LA1-48 ] a | 3

SEFTHY F TId F
HET & T HETIIA

Prakash mandir

Pratap mandir

indiresult.in whatsapp - 9352018749
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In which of the following years did the Royal Commission on Opium visit Rajasthan ?

HEY ¥ defua e weE e § o fem o F wewem e av?

(A) 1816 (B) 1893 °
o D () INDIRESULTE
Begu Peasant Movement was led by whom ?

(A) Ram Narain Chaudhary (B) Vijay Singh Pathik .
(C) Motilal Patel (D) Hari Bhau Upadhyay
& fopam aridie @1 g fee fear 7 '

(A) T AR e B) fawg iz afum

(C) w9 (D) B 9% Iureary
Who started the Bhagat Movement ? v

(A) Rajasthan Sewa Sangh (B) Bhogilal Pandya

(C) Bhurelal Baya (D) Guru Govind Giri
WA SR fhaes &0 wre e w7

(A) TSR e WY - (B) wri@m gis

(€) e =4 (D) o wifers frdT

Which state of the Matsya Union was ready for its merger with Uttar Pradesh based on the
mandate of the Public ?

(A) Bharatpur (B) Karauli

(C) " Dholpur (D) Alwar

TR HY T BIFHT O STl % g b S I AL WL & e Rt % e duw
qr? '

(A) AR (B) @l

(C) dmgr - (D) ot

Kali Bai, who was killed in May 1947 by the police while attempting to free her teacher,

‘belonged to which district ?

(A) Udaipur , (B) Dungarpur

(C) Banswara . (D) Jaisalmer _

T 1947 B B AE ST STETEF H GH B b A0 g o M g o @
Tg fore fael @t o 7 ' ' |

(A) SEIR : (B) WYX

(C) afwaTsT (D) SEER

The first woman of Rajasthan who was arrested during the freedom movement in Rajasthan

was ? indiresult.in whatsapp - 9352018749

(A) Nagendra Bala (B) Anjana Devi Chaudhary

(C) Ratan Shastri ' (D) Rama Devi Pandey

IR # @R SHEe % AR RRER B arel ot @ geel Hfew @i 47

(A) TE S . . (B) e I&T Arerdl

©) mswsﬁj' (D) THE S | o
@mowresutg 210,
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Which fort in Rajasthan is also known by the name of Dhar adhargarh ?

(A) Bhatner fort (B) Gagron fort
(C) Ranthambore fort (D) Choumuhagarh
TR % Rpel 76 &1 UNICTE % AW § 6 S e
(A) WX @l el » (B) TR @ e
(C) TorgeiX & fopen (D) HETTS
Where is Chand Bawadi situated ?

(A) Amer (B) Sikar

(C) Abhaneri (D) Tilwara

dfe 9ragl wel Rerd ¥ 7

(A) ST (B) drwt.

(C) emardy (D) RierEmsT

Which saint of Rajasthan and d1$01ple of Ramanand renounced his state and joined his Guru
Mandali ?

(A) Dhannaji (B) Jambhoji

(C) Peepaji (D) Raidas
Wﬂw%mwﬁmiﬁmﬁmmﬁwmgﬁ%ﬁﬁﬁmﬁﬁg@ ?
(A) &= S (B) ST S

(C) drar i (D) "W

The "Than' of folk god Gogaji is usually found under which tree ?

(A) Khejri (B) Peepal

(©) Bargad (D) Neem

AT TS % O "Ead: R U8 % A ol e § 7

(A) EwET - (B) 4w

© = (D) ™ |

For contribution to which Handicraft has Kudrat Singh been bestowed with the Padamshri
award ?

(A) Textile Printing : (B) Meenakari Art

(C) Moradabadi work on Brass (D) Blue Pottery

g g @ o wweden ¥ qery % fag ugms ¥ erigd e wr ¥ 7

(A) ®YS H BUE (B) HMTHETY wer

(C) diad 9T JUREET B (D) = uRel

Muhammad Shah and Sahib Ram were famous painters of which School of Rajasthan
Painting ? indiresult.in whatsapp 9352018749
(A) Jaipur (B) Bundi

(C) Alwar (D) Udaipur

TG 9E SR wifeaquw fhw wewer fswar S % R R 87
(&) SEgE B) &

(C) e : (D) TEayx

The compositions of Dadu and his disciples are mostly found in which dialect/language ?
(A) Mewati - (B) Dhundhari '

(C) Mewari (D) Marwari

g, 3R e frsdt &Y veend erfrena R wmer ® o e &7

(A) W - (B) Ferl

YOUR SUCCESS PARTNER
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Which one of the following is the per cent share under reserved category to the total recorded
forest area of Rajasthan according to State of Forest Report 2017 ? ‘

B aife B RO 2017 % STER TORAE 99 % Yeliga o & &l freitea o § o
a1 ufergr sfgr exfy Sl & e SR & 7 “

(A) 38.11 (B) 55.64 (J v |
© 625 ©) 434 (Z¢)INDIRESULTE
Shergarh wildlife area is situated in which of the following districts ?
(A) Baran (B) Udaipur

(C) Jaipur (D) Bikaner

o T o o Prefifaa ¥ ¥ e P F Rem 7

(A) st (B) &AL

(€) A . ' (D) BT

The plant known as the 'Green Gold' of the tribes is :

(A) Salar (B) Dhokda

(C) Bamboo (D) Gular

el % By @ % T ¥ S S A 9 ¥

(A) FEY (B) et

(€)' =g | (D) TR

Ozone day is celebrated on :

(A) 16th September (B) 16t December

(C) 16t January (D) 16t June

At T Awm ST ¥ -

(A) 16 fqawt &l | (B) 16 fawat &

(C) 16 S9al & v (D) 16 5 @I

Which one of the following is a reason of Blue Baby syndrome ?
(A) Nitrate (B) Mercury

(C) Lead _ (D) Iron
fretfefigg & § PH-o 6 = 99 e | wEhua ¥ 7

(A) L ®) wa

(C) dmn | (D) el

; indiresult.in whatsapp - 9352018749
What is the percentage of area and population of Rajasthan affected by Thar desert ?

(A) Area 50%, Population 50% (B) Area 61%, Population 40%
(C) Area 70%, Population 60% (D) Area 70%, Population 70%
T R e Y TR AW ° SHe & Riee e ¥ 7
(A) BBE 50%, SEEE 50%, (B) @I 61%, SEEAT 40%
(C) &BT 70%, FTEEIT 60% (D) & 70%, FEE 70%

6 [PTO.
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32 Which one of the following is biological name of Rajasthani camel ?

(A) Camelus dromederius (B) Camelus bacterius
(C) Camelus desertius (D) Camelus europa
T $2 HT ISCTD A0 & ~
(A) FHEE gESREw (B) ey dfrefag
(C) Fhww wfdug (D) HAwE g

33 Growth with stability and self reliance was the objective of which plan ?
(A) Third Five Year Plan (B) Fourth Five Year Plan
(C) Fitth Five Year Plan (D) Sixth Five Year Plan
Rervar & @iy e o eneifrier fre Qe @ @eg ar?
(A) g dgedta g (B) =gy dwedt grwn
(C) uiweEl doavly demr (D) w3 vFasE T

34 'Som-Kamla-Amba' irrigation project is situated in :
(A) Bundi : : (B) Kota
(C) Dungarpur (D) Banswara
-raT-orar e ufdemn fog § -
(A) o (B) @ o
(C) Fryx A (D) wiwarsT &

35  Which of the following is source of water for Hanumangarh and Churu districts 7
(A) Kanwarsen lift Canal (B) Guru Jambheshwar lift Canal
(C) Choudhary Kumbharam lift Canal (D) Pokaran lift canal

Frefefee & @ &9 s 9 ge fal % fie o @ g 7

(A) Ha@Ew fawe wwy ‘ (B) 7% smigEr fawe wEY
(C) gl Frm fowe e (D) et forwe et

36 Which one of the following National highways links Ajmer to Bikaner in Rajasthan ?
(A) N.H. 89 (B) N.H. 79
(C) N.H. 359 : (D) N. H. 69
Prafafae T TemrT § ¥ B ue TR ¥ onr B ek & dedr 27
(A) T T3 89 (B) T wa 79
(C) TA. uwdg. 59 (D) U©d. wg 69

37  In which of the following mineral production, Rajasthan is numbef one in India ?
(A) Feldspar (B) Lignite ' '
(C)  Copper | (D) Iron indiresult.in whatsapp - 9352018749
Frefefea & & forw @i & SwoEa § TR # wRg § vee @ § 2
(A) eEr . (B) fwge

YOUR SUCCESS PARTHNER
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Which one of the following is not correctly matched ?

(Ay Alwar — Sabi, Ruparel (B) Udaipur — Banas, Berach

(C) Karauli — Jagar, Gambhiri (D) Dungarpur — Banganga, Morel
frr=rifer & & -1 g we gk E R 7

(A) FrER — T, Bur (B) SIUYX — S, I

(O & — W, Wi (D) TWYT -~ IOE, HE

According to Koppehn's classification, which of the following stands for Dungarpur district ?

B it & enam W frafafed § § SF-wr SR fae % fig 37

(A) Aw (B) BShw
(C) BWhw (D) Cwg

Which one of the following districts of Rajasthan has maximum annual rainfall variability ?
(A) Barmer ' ~ (B) Jaipur

(C) Jaisalmer (D) Banswara

et # frafatea § @ few e & arfifes ot & srfresan foman arly s ¥ 7

(A) STEHT (B) EYX

(C) SEemT (D) wigarET

Which one of the following type of soil is found in the maximum part of Rajasthan ?

(A) Aridosols and Entisols : (B) Aridosols and Alfisols

(C) Inceptisols ' (D) Vertisols and Alfisols

ORI % weitad & T FefaRed § @ @ & ogar ol sl ¥ 7

(A) ufteEed ud gitedied (B) TRESHITH Td Hehided

(C) safeary (D) aotaE Td SHERd

According to Economic Review 2017-18, the total number of districts of Rajasthan selected
for National Horticulture Mission, is —

anffes wefiem 2017-18 & SER Usrea™ # T wrraEl fee & forg wab Bl o

e e — indiresult.in whatsapp - 9352018749

A) 22 (B) 23 '

© 24 : (D) 25

Which of the following river is also known as 'Kamdhenu river' ?

(A) Banas : B (B) Chambal

(C) Kothari (D) Banganga

Fretfufiaa & & @ T8 By T N w7

(A) T99 (B) T=d

(C) @ (D) srEEm

Which one of the following districts is the largest producer of sugarcane in Rajasthan ?
- (A) Jodhpur (B) Ganganagar

(C) Bundi (D) Sirohi

Preffad fel & ¥ S-ar TF T ¥ T B 999 987 IuEE ¢ 7

(A) SiEgy e (B) AT

© ¥ () INDIRESULTE @ T
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Extension of Radcliffe in Rajasthan is from : (.7/'
(A) Hindumal Kot (Ganganagar) to Bakhasar (Barmer) /“, !N PsluBcEfssgm.l:g

(B) Konagaon (Ganganagar) to Shahgarh (Jalore)

(C) Hindumal Kot (Ganganagar) to Shahgarh (Jalore)
(D) Konagaon (Ganganagar) to Bakhasar (Barmer)

e Yar & e ¥ Rrer d o

(A) frgrmer (TAR) ¥ TR (SRE) o6
(B) @wivFla (TIR) € 9ee (WER) ae%
(C) Fguaele (TIFR) § e (WWR) o6
(D) HOmE (PrTR) ¥ SrERR (@A) a6

The longitudinal extension of Rajasthan is : '
(A) 69°30'E to 78°17'E (B) 69°30'E to 78°17' W

(C) 69°30'W to 78°17E (D) 69°30'' W to 78°17' W

TR &1 39X fa ®

(A) 69°30' g&f & 78°17' g&t (B) 69°30' g&l ¥ 78°17" ufyaely

(C) 69°30" ufderlt & 78°17' gdt (D) 69°30" iy & 78°17" wl¥e™ir -
What is height of Peak 'Ser' ?

(A) 1722 meter (B) 1597 meter

(C) 1380 meter (D) 1496 meter

YU udd AT B S w|r ¥ 7 |

(A) 1722 ArRX (B) 1597 HY

(C) 1380 HiX (D) 1496 BT

Which one of the following districts of Rajasthan is not having the extension of Arawalli
hills ?

(A) Sikar (B) Jhunjhunu
(C) Jalore (D) Alwar
T % e el F ° e e e A ool veret @ e w0
Aa) deT B) FFL -
(€) =R ; (D) &@av
"Phulwari ki Naal' is located at : ;
(A) Udaipur (B) Rajsamand
(C) Kota (D) Bundi _
BT @ AW Raw ¥ Jindiresult.in whatsapp - 9352018749
(A) SEgw o (B) TwgHT H
- (C) wrEeT H (D) &+
Which one of the following is not correctly matched ?
(A) Ghaggar — Dead river (B) Bhorat — Plateau
(C) Nagpani — Arawalli pass (D) Ser — Arawalli peak
frifed 9 | wE-—w gw wE gafaa E 7 '
(A) b — Fad &I - (B) #RIE — WK
(C) FFTF — g < (D) AT~ ST =

uuuuuuuuuuuuuuuuuu
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o
(#)piresuLTe

Alcohol is produced during the process of -

(A) Ascent of sap (B) Photosynthesis

(C) Aerobic respiration (D) Anaerobic respiration

visran fas Uemrmia @ Frfr g ¥ - |

(A) T (B) wepTeT HIwwOl

(C) T g (D) e 959

Canada Balsam, a mounting agent used to make permanent slides is obtained from the
species of - :

(A) Abies (B) Cedrus

(C) Pinus ’ ‘ (D) Juniperus

HITST U, Qasmzrfé‘rrq-w‘fz zﬁrwﬁm%mmmm% g U Wi °
T BT ¥ -

(A) T ' (B) @y

©) 9T D) AT

Stolon is a - _

(A) Stem (B) Root

(C) Underground stem (D) Sub aerial modlﬁed stem
JE BT 8 - | | |

A & B) T

(C) wfrE @™ (D) SUERE WA &
What is a Rosie ?

(A) A transgenic goat ' (B) A transgenic cow

(C) A transgenic sheep (D) A transgenic flower
TS w7 |

(A) TH ZiEsitEE gl (B) & ZiEsitie T

(C) uw ZiEsis 9% (D) TE Zigsiiien g
The edible part of litchi is -

(A) Mesocarp (B) Thalamus

(C) Seed coat : (D) Aril
Gleiicaieieioie i il

(A) FEHATH (B) ywrE

(C) dreram ' (D) i

indiresult.in whatsapp - 9352018749

Minimum number of meiotic divisions required to obtain 100 pollen grains of wheat -

ﬁgﬁmowwwmﬁ%gﬁmﬁwaﬁ@ﬁwaﬁm&mﬁﬁ ?
(A) 25 . (B) 50

150
© 100 ("f//INDIRESULTE ®) |
YOUR SUCCESS PARTHER 10 . [PT'O
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Who coined the term totipotency ? C:?/_‘j IN DIRES UE-TE

(A) Morgan (B) Schwann
(C) Darwin , (D) Haberlandt
quisteRraT g1 fepe wirarfe femar

(A) @ (B) A

©) si= (D) RS
Tap roots are commonly found in -

(A) Angiosperm - (B) Gymnosperm
(C) Monocots ' (D) Dicots
IROTAT JHal A 915 S & -

(A) SgaEEi (B) SIS
(C) THeeTTE (D) fadomsh
Storage product of Rhodophyceae is -

(A) Starch (B) Glycogen
(C) Floridean starch (D) Cellulose
USTeREl &1 dfag Sag & ~

@) wd , . (B) wE@EM
(C) wiiieaT wrd (D) HwE
Palmella stage is present in - ,
(A) Chlamydomonas (B) Spirogyra
(C) Aspergillus (D) Riccia
QT STaET UIE S ¥ -

(A) SIS (B) wWIEFTET
(C) vEfrerd | (D) feferean
Edible part of apple and pear is -

(A) Thalamus (B) Epicarp
(C) Mesocarp (D) Endocarp
9 T AR &1 @ A 9 ¥ -

(A) g | (B) %A
(C) weawaraR (D) 3 Heraiy

First "Earth Summit" for "Convention on Biological Diversity" was held at -
(A) Johannesburg (2002), S. Africa (B) Rio de Janeiro (1992), Brazil
(C) Dehradun (1992), India (D) New York (2000), USA

‘e fafererrett X @@ ¥g v ‘ard gl gem ar -
(A) SieTgsrt (2002), &, STHH (B) TRmiaEr (1992), amie
(©) TETET (1992), A - (D) =@ (2000), .T9.T.
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Red rust of tea is caused by - @lNDlRESULTE

(A) Green Algae (B)
(C) Fungi D)
o B WA b U Rewsds gy e &7

(A) & Jram (B)

© @ah (D)

The fruit of Sorghum is known as -

(A) Cypsela ‘ (B)
(C) Achene (D)
TT H EA B FEd € -

(A) Tasen - ®
(©) TwBH (D)
The term biocoenosis was coined by - |
(A) Tansley ' B)
(C) Warming - D)
g it feew ufomfea fear 20
(A) ae B)
(C) anfifn )

Gibberellin was isolated from -

(A) Algae (B)
(C) DBacteria ' (D)
Reem &l gue fear wr -

(A) e o (B)
(C) Sierey & (D)

indiresult.in whatsapp - 9352018749
The instrument used to measure diameter of a tree trunk is called as -
(A)  Alburnum ' (B)

Red Algae

Brown Algae

GIGENEIS]
X e

Caryopsis

- Legume

Hfaife
i

Carl Mobius
R. Mishra

B ATy
Y. Ty

Fungus
Bryophyte

HaH Y

TAHEE o

Duramen

(C) Tyloses ' (D) Dendrogram
Suehul e a7 U % a9 Bl ST Wi SR ¥, hed & —

(A) TEHE . B)

RRRRRRRRRRRRRRRRRR
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Which of the following is correct in relation with hormones released by human placenta ?
(A) Estrogen and Androgen

(B) Placental Gonadotropin, Estrogen and Androgen

(C) HCG, HPL, Progesterone and Estrogen (:/.'J
(D) HCG, Progesterone and Androgen

qd SRy B Prepfd s % oawy ¥ fra ¥ el ¥ 7
(A) TRISHE T TOFSE

(B) w@=d THERINT, TEET U8 TUgeH

(©) werdrs., Ta e, NeRE uE TR

(D) TE.ELS., WNETE T TUgeH

At the time of conduction of nerve impulse, the repolarization occurs with the -

INDIRESULTE

YOUR SUCCESS PARTNER

(A) Influx of K* ions (B) Efflux of Na' ions

(C)- Efflux of K* ions (D) Efflux of both Na™ and K* ions
<Rt ST & YO % wHF g gavr @ fhar # g ¥ -

(A) K* e w1 araders (B) Nat st &1 aftders

(C) K* e @ afedars (D) Na* wg K* et & sfedars

Select the statement for human brain which is not correct :
(A) Mid-brain has two optic lobes.

(B) Corpus callosum connects two cerebral hemispheres.
(C) Hypothalamus has hunger centre.

(D) Medulla oblongata controls involuntary activities.

g Afaws & WU YT @ T i, W ger el ¥
(A) weg ARGws o & 9o wifval SuRyd

(B) wIdT FHeraw & yHRhEs ME! & siedl § |
(C) =TRIEWTE ¥ @ & &% e © |

(D) TFg@r sfearier emfos faatett &1 Frasor #war € |

The discrimination in the sound of varying intensities is done by which part of human ear ?

(A) Sacculus (B) Utriculus

(C) Basilar membrane ) (D) Ressiner's membrane
ferftret <frerar @t eafy @l fesidiga &vf & fobw i gra fpr mar & 7
(A) g - (B) ghgew

(C) el He (D) IR & we

Which of the following statements is not correct for a striated muscle when it contracts ?
(A) No.change in the length of I band.

(B) No change in the length of myosin band.

(C) A band retains its length.

(D) Sarcomere becomes shorter.

g sl & fow, 5@ o dghoa 2R &, Freafofea woi § § @9 @8 @i 8 7

(A) 19 & a9 ®wg uftere e g |

(B) WAt ugdl 1 wais ¥ w3 uftadw w8 g |

(C) A 9 o TR T GA T _ ,

(D) W&I‘W B g W ¥ indiresult.in whatsapp - 9352018749
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The most abundant RNA in animal cell is - (' |ND|RESULTE

Wﬁmﬁ{ﬁ%ﬁm@%Aﬁw% ? YOUR SUCCESS PARTHNER
(A) t-RNA ( B) ~RNA
(C) mi-RNA : (D) m-RNA

In Mendel's experiments, the dihybrid phenotypic ratio was -

(A) 9 (Round, Green) : 3 (Round, Yellow) : 3 (Wrinkled, Yellow) : 1 (Wrinkled, Green)
(B) 9 (Round, Yellow) : 3 (Round, Green) : 3 (Wrinkled, Yellow) : 1 (Wrinkled, Green)
(C) 9 (Wrinkled, Yellow) : 3 (Round, Green) : 3 (Round, Yellow) : 1 (Wrinkled, Green)
(D) 9 (Wrinkled, Green) : 3 (Round, Yellow) : 3 (Wrinkled, Yellow) : 1 (Round, Green)
%ﬂ%mﬁvﬁﬁf%’éﬁwﬁm@'@mm—‘ |

(A) 9@, &Y @ 3 (Tw, 9) @ 3 (gler, 99) : 1 (GER, )

(B) 9 (i, wt) : 3 (v, s%) 23 (gifer, 9&) ¢ 1 (FER, &)

©) 9, dw) ;3 @, 50 3 @@, 99) : 1 (G, )

(D) 9 @R, 59 3 (T, ) : gﬁmd‘nﬁ 1 (7, &)

¥

Match the Syndrome in column -1 with Karyotype in column - II and select the answer
which is not correct . :

Column -~ I Column - II
(A) Edward's Syndrome - Trisomy 18
(B) Patau's Syndrome - Trisomy 13
(C) Turner's Syndrome - Trisomy 21

(D) Klinefelter's Syndrome - XXY ' .
w3 R s ﬁWﬁ“IiﬁW%ﬁmﬁﬁﬁmﬁgwmwaﬁ?ﬂﬁﬁw

R
T - ] w]Y - 11
(A) wEaEsE o — ZrEE 18
(B) e e — ZEEEr 13
(C) =T fogm ~ ZEEE 21
(D) wETheey R - XXY

indiresult.in whatsapp - 9352018749

The animals of which group are homeothermic ?

(A) Whale, Pigeon, Bat (B) Crocodile, Alligator, Bat
(C) Whale, Alligator, Pigeon (D) Hippocampus, Bat, Alligator
frer & B W WY waTs wivw @

(A =W, HYI, TS  (B) RN, Ye, wEEE
(€) =, LT, HYI (D) fedvem, e, qEreT

e (@INDIRESULTE ¢
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77 Match List-I with names of Phylum with List-II with structures and select the correct

answer : .
List. Listll () INDIRESULTE

(a) Porifera (i) Flame cells U ““““““““““ pamTmER

{b) Platyhelminthes (i) Choanocytes

(¢) Nemathelminthes (iii) Phasmids

(d) Chordata (iv): Cnidocytes

(v) Malpighian tubules
(vi) Post anal tail

ﬁa“fésﬂmgaa@imﬁWwﬁg&aqﬁpﬁé%ﬁa&@!aﬁ?mywﬁ:

- G-I
(@) dr ' (i) vaTE e
(b) werRfereie (ii) T
(c) PR (iii) wifAgm
(d) @i (iv) domepifyreTd
(v) Fedrf "*‘ch*%"ﬂif?
(vi) UITE W

(A) (@) (iv), (i) (b) (i) () (v): (d) (vi)
B)  (a) (iii); (b) (), (iv); (o) (ii); (d) (V)
(€} (a) (D; (b) (i); (o) (iiD); (d) (vi)

(D) (a) (), (i) (b) (iv); (o) (iii); (d) (vi)

78  Which enzyme does not digest proteins present in food ?

(A) Trypsin (B)Y Chymotrypsin
(C) Pepsin | (D) Lipase

HF T GIEH S ¥ guled WS @ aree A8 st 7
(A) feftas (B)  wrHifefa

(C) ufgs (D) I

79 Which of the following is not the matching set ?
(A) Spleen - Billroth chords
(B) Sinu Atral Node - Pacemaker
(C) Tricuspid valve - Mitral valve
(D) Thebesian valve - In right atrium of human heart
e & & B gif TS R 7
(A) wiEl - Ry g
B) Bt enfer s — el diresult.in whatsapp - 9352018749
(C) Preudl sure - frza wure
(D) U3fqEa HUR — WMY ey & 9 s §

LAI48] a@leRESULTE 5 [PTO.
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80  Androgens are secreted by - C'./;/,’ INDIRESULTH

YOUR SUCCESS PARTHNER

(A) Sertoli cells (B) Leydig cells

{C) Tunica propria (D) Spermatogonial cells
T BT e H E -

(A) TR W (B) W wifrpd

(C) g diften ' (D) YIS BT

81 DBacterial diseases in man are -
(A) Typhoid, plague, malaria (B) Typhoid, plague, typhus
(C) Diphtheria, pneumonia, influenza (D) Plague, malaria, typhoid
(A) TS, @, wefEr | (B) ZISEIES, T, EHY
(C) Fewelifear, =yt oSt (D) W, WA, TEHIEE

82  Sclect the correct set of homologous organs -
(A) Forelimb of man, wings of birds and flippers of whale
(B) Forelimb of man, wings of insects and wings of birds
(C) Forelimb of man, hind legs of horse, wings of birds
(D) Forelimb of man, tail of horse, wings of bat

(A) HrFE % orurE, uell % U@ qU1 RA b HAUE
(B) WME &% IUUE, B2 & U@ U gall % U
(C) ¥MHda ¥ STUUE, O% % Ug9dR, dal % U9
(D) WG % ST, B @I Y8, THIRE & U9

83 Connecting link between phylum Annelida and Mollusca is -

(A) Peripatus (B) Neopilina
(C) Chiton (D) Nautilus
& whfer v e B Ao B -

(A) Tz (B)  faiifiemsr

(C) @EeT (D) wifewd

indiresult.in whatsapp - 9352018749
84 Munga silk is obtained from which insect ?

(A) Philosamia ricini (B) Antheraea assamu
(C) Antheraea paphia (D) Bombyx mori

o T few @ § W< B § 7 -

(A) Featarfrar T (B TEEr e
(©)  g=dar dfar » (D) §ifaer 7E

LA1-48 ] 86:'/‘9 INDIRESULTE 16 | | [PTO.
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In a Young's double slit experiment the slit separation is 1 mm and the screen is | m from
the slit. For a monochromatic light of ‘wavelength 500 nm, the distance of 3td minima from
the central maxima is - .

i % wh fr R (double slit) T # RFGN & 7w g 1 mm o & o Rkl & g8
Im¥ | T® 500 nm T 2t % wwadt ey ¥ R S fits @ e o A g ¥ -

(A) 0.50 mm (B) 1.25 mm :
(C) 1.50 mm (D) 1.75 mm

Brewster's law is - |

=X & v g -

(A) ip =90° (B) n= tan ip

<) ip—rztanu - (D) ip:tanu

(where w = refractive index and i p= polarising angle)

(orel p = SroadiE qaT 1, = Yo BHiv)

In Fraunhofer diffraction at single slit, if slit width is decreased, the adjacent minima will -

(A) come closer (B) move apart

- (C) remain at the initial positions (D) come closer initially and then move apart
w%mﬁwﬁﬁaﬁaﬁ%&aﬁﬁaﬁwﬂm,?ﬁmﬁ&ﬂw—
(A) U ST (B) T &M '
(©) ot Rafy o o WA (D) uEd g R RET B

The longest wavelength in Balmer series of hydrogen spectrum will be -

Treer Wazd § ae St @ eifread @i ded el -
(A) 6557 4 (B) 1216 4
(C) 4800 4 (D) 5600 4

. When hydrogen atom is in its first excited state, its radius compared to that of ground state

is - :

(A) same ‘ (B) half

(C) twice (D) . four times '
wgﬁéﬂﬁmﬂuwﬁﬁﬁawﬁﬁw%,ﬁmmwmﬁﬁwaﬁw
7% - , :

(A) TET ' : - (B) omd

(© g™ (D) =X oW

indiresult.in whatsapp - 9352018749
The energy required by a hydrogen atom in ground state, to move to its first excited state

is - : ,
m@mmﬁraﬁﬁm@m@ruﬁﬁﬁﬁmmﬁaﬁ%ﬁmmwmw
%__ B

(A) 13.6 eV . (B) 3.4eV

©) 102 eV %INDIRESULTE D) 122 eV

YOUR SUCCESS PARTHNER
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91  The binding energy per nucleon for a deuterium nucleus is 1.115 MeV. Mass defect for this
nucleus is about -

S e B T S gR SRR 1115 MeV ¥ | 39 e % R zegar ety
& A BN~ |

(A) 223 u A (B) 0.0024 u (;{// INDIRESULTE

(C) 0.027 u (D) 0.0012 u AJ
92 The electron emitted in beta radiation originates from -

(A) inner orbits of atoms. (B) free electrons existing in nuclei.

(C) decay of a neutron in a nuclei. (D) photon escaping from the nucleus.

der WA F s T dar § - |

(A) T & R Fe Y | (B) i ¥ fye o star o |

(C© e & "M % &9 § | (D) s & Fee o Bem T )

93  When gLi is bombarded with a certain particle, two alpha particle are produced.
The bombarding particle is -

(A) neutron (B) proton

(C) alpha particle (D) deuteron

W JLi @ R & ca & SR ¥, & oremn w0 we €, Tt aren o ¥ -
(A) g  (B) WEH

(C)  ormH W (D) =g

94 In the half wave rectifier circuit operating from 50 Hz main frequency, the fundamental
frequency in the ripple would be - '

‘@mﬁmﬁwrﬁsamg@awq&rwmmm%,mﬁwaﬁwmm_

(A) 25 Hz (B) 70.7 Hz
(C) 100 Hz (D) 50 Hz
95 At absolute zero temperature, intrinsic germanium and intrinsic silicon are -
(A) Ideal Conductor (B) Good Semiconductor
(C) Ideal Insulator ' (D) Conductors
T W W g S o g Rl § -
(A) omEsl awes ® oD s
(C) oyl s (D) dH
96 The logic gate represented in the following figure is -
& gu fom % wiftre e qafar & - |
indiresult.in whatsapp - 9352018749
A \
Y
B
(A) OR Gate (2) (B) NOT Gate (12)
(C) NAND Gate (/2) (D) XOR Gate (I2)

" [PTO.
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The doors are provided with handles near the outer edggs far away from the hinges :
(A) to exert maximum torque on the door to open it easily.

(B) to exert minimum torque on the door to open it casily.

(©) because position of handle does not matter and is convenient to fix at the outer edge.
(D) because while opening the door fingers are not hurt by hinges.

aaret ¥ Yoo owEn & wet U oilyw gl v Sl feer v e e ¥ -

(A) Tar F AEE ¥ g & R o w9 el @ & A |

(B) aearif @1 ol ¥ Giaw % frg = g@ sl @ % g

(C) s ¥ew @ Ry § &1 wh 78 uzar § 1 qEl R o¥ ¥eE WO S R
-

(D) mmﬁﬁwmwm%wmzﬂzau@x

Consider a two particle system with particles having masses m} and m,. If the first pdmcle
is pushed towards the centre of mass through a distance d, by what distance should the
second particle be moved, to keep the centre of mass at the same posmom ?

<) Uil & Ty @1 STTETION Y Ry U U1 BT FAE G G By ® 1A T
wa?rammﬁﬁmd@émmmqeﬁ?@l{moﬁmﬁdﬁéﬁmmm
forey Prrg @1 s e Sraraiia @ 7

. ' my d
A d B T
v m J ' , my ;
(© my -+ ny ‘ D) 1 ‘

A circular disc of radius 0.5 m and mass 25 kg is rotating about its own axis with a spped
of 120 revolutxon/mm The moment of inertia of the disc is -
(A) 1.550 kg m (B) 3.125 kg m?
(C) 4.125 kg m? D) 6 250 kg m?
U g aadl fraet fear 0.5 Wer T g 25 R e gﬁw 120 FaET /e
ﬁwéwﬁm% | e T S STl B -
(A) 1.550 fpum =2 (B) 3.125 fum =12
(C) 4.125 fepamr 12 - (D) 6.250 T w2

Two samples 4 and B of a certain gas, which are initially at the same temperature and

, 4 . . . .
pressure, are compressed from volume V' to I/ A is compressed isothermally, while 8 1s

compressed adiabatically. The final pressure of 4 is -
(A) more than that of B (B) equal to that of B
(C) less than that of B (D) twice that of B

RpdY g % S T AT B ¥ T & A g a9 WE 1 O WHW?W@&W

y Ve e ¥ A ® awad ql & g B wars alt § ahfed frnmnEiA
&7 sifay =g ¥ — indiresult.in whatsapp - 9552018749

(A) B9 aifus (B) B % aU
(C) B¥ &w (. !I}!pﬁlﬁ{m ULTE ) B @t g

TNER

LA1-48 ] a , 19 [PT.O.
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101 When 20 J of work is done on a gas, 40 J of heat energy is released. If the initial internal
energy of the gas was 70 J, what is the final internal energy ?

ST fopdlt 9 9T 20 J wr fepar i ¥, aMwmmﬁw%?aeﬁ%mﬁﬁaa%wﬁ%
e St 70 J Y, & s o sl wet ¥ -

(A) -150J : (B) 50J

(C) 90J : - (D) 110J

102 An ideal heat engine operates in a Carnot cycle between 227°C and 127°C. It absorbs 104
Joule of heat at higher temperature. The amount of heat converted to work is -

(A) 2000 J (B) 4000 J
(C) 8000 J (D) 5600 J
wm&fmmﬁzﬁmﬁzwzzrcaﬁr127°ceseﬁaﬁfw%asﬁar%xa—crarcrtn
g 10% 9@ oA SNt wiar § | ST @ AT o e ufwafda e -

(A) 2000 s (B) 4000 St
(C) 8000 S&- (D) 5600 s[&
103 The efficiencies of all reversible heat engines working between the same temperature -
(A) are same. ) (B) depend on fuel used.
(C) depend on pressure. (D) depend on volume.
U A9 F 9w BE q q Iepaoliy SO §e @Y gerard —
(A) TUST T ¥ : B) vgE um 9 el s ¥
(©) T ax fredft s ¥ (D) amgas WX Pt s ¥

104 In simple harmonic motion, at which value of displacement, kinetic energy is equal to
potential energy (a is the amplitude) ?

e otmad g few foremam o) it ot gt fafie oot M B ¥ (@ emam ®) 7
(A) xZi% - (B) xzig-
a
4

(€ x=% D) x=z£a

105 A child is sitting on a swing. Its minimum and maximum heights from the ground are
0.75 m and 2 m respectively. Its maximum speed will be -

(A) 10 m/s - (B) 5Smis
©) 8mis D) 15 m/s

U g g WOHE @ ¥ | o ol § fieaw g etfuesad $arg saan msxﬁzxa
2 WX ¥ | IEH! SAfrebad =T BRI~ indiresult.in whatsapp - 9352018749
(A) 10 54, . (B) 5HELME.

15 91./4.

© 8 %INDIRESULTE(D)
LA1-48 ] a | 20 | ' [P.T.O.
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5 kg .
106 S ; |
y % = J
7 - @noimesuus
Collar

A 5Skg collar is attached to a spring of force constant 500 Nm™!. It slides without friction
on a horizontal rod as shown in the figure. The collar is displaced from its equilibrium
position by 10.0 cm and released. The period of oscillation of the collar is -

5 kg

Collar ,
w5 REUT T T (collar) U R Rerwest e fraies 500 Nm! 3, @ g1 W & 1 98 T
qua AR gae o e adur & Ry war ¥, Sar fas ol wn w0y e dgfer s
Y 10.0 T Freenfia @Y BT S@l § 1 T B A HA ©
(A) 628 s (B) 62.8 s
(C) 0.0628 s - (D) 0.628 s

fTriire

107 The right relationship between the square of speed of sound (v and absolute temperature
(7) of any gas in gaseous medium - :

Y wreaw B Ay & O F 9 (02) 9ur TG & uREan (1) & 9T g8 ey g § -

(A) 2 \ B) 2

T . T
(C) 2 k .(D) v2
T T

108 Velocity of source of sound, when to a stationary observer the frequency appears to be
double the original frequency (velocity of sound = 330 ms~!) is -

s @Y Hia B 9T w9 UH R Yaw @ el @) enght g TEE ¥, (S @ 9 =

330 ms!) § ~
(A) 330 ms™! (B) 165 ms~!
(C) =330 ms™! ‘ (D) -165 ms’!

indiresult.in whatsapp - 9352018749
109 In two identical tubes 4 and B, tube 4 has both ends open, while tube B has one end closed.
* The ratio of fundamental frequency of tubes 4 and Bis (4 : B) -

<Y wpgE TREr 4 T B E, T A % A R ga ¥ 9 el B uw R W9 ¥ ARl A
g B # Hq anghadl & ou (4 : B) €N -

(A) 1:2 B) 1:4
(C)zzl(]/. D) 4:1
LAI-48] ,;_0!'}!!35@5559!‘-]:@ 21 i [P.TO.
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110 A charge g is enclosed in a cube. The electric flux associated with one of the faces of cube

i1

112

113

is -

T Y ¢ U U A ufilEw ¥ awébqaawm%gmé dlm‘légaW@HT%-—

G- B) e,
‘6q €
© 2 | | ®

Three charges +4 ¢, O and ¢ are placed on a straight line of length ( at points at distances

0,— and ¢ respectively. What should be Q in order to make the net force on g to be zero ?

A SR +4 g, Q T g Th ¢ WaE b1 Wl T@r uX BHI: o,—gaﬁr eq&wﬁw%n
O @ T T BT ARy BF g X @ arr ool a9 gpE € W 7 |

(A) -¢ B) -2q
© -7 D) 4g

A charged oil drop is suspended in uniform field of 3 x 104 V' m~! so that it neither falls nor
rises. The charge on the drop (take mass of the drop 9.9 x 10715 kg and g ~ 10 ms™2) is :

U AR AW B g7 3 x 104 V! % o &9 | Wedl &5 ¢, 98 Al A AR §, 7N
T HUT o T 1 AT DB gg UX AT ¥ (S8 H g 9.9 x 1000 kg g g ~ 10 ms2) ¢
(A) 33x10°8¢C (B) 3.2x10718C
(C) 1.6x10718C (D) 48x10°18C

The effective resistance between points A and B in given circuit is —

o uftuy & /g 4 9 B & dg wwrel whww ¥ -

10Q

I;OQ indiresult.in whatsapp - 9352018749

(A) 5Q . , (B) 10Q

© 40QC:"/glNDmESULTE 0 soe

YOUR SUCCESS PARTHER
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114 A potentiometer wire is supplied a constant voltage of 3 7. A cell of emf 1.08 V'is balanced
by the voltage drop across 216 cm of the wire. The total length of the potentiometer wire
is - "

(A) 200 cm ® 400em (% INDIRESULTE

w fqveae T O # UE wad deew 3 Y @i s § 1 108 ¥ faane, e &w
216 A9 & T WX Ravaier ¥ dgfre e ¥ 1 faweedr A @ pe der g6 -

(A) 200 §HI (B) 400 T

(C) 600 T (D) 800 [

115 Can we use copper wire as a potentiometer wire ? Choose the correct option.
(A) No, because its resistivity is very high. ‘
(B) Yes, because it has small resistivity.
(C) No, because it has small resistivity and also its temperature coefficient of resistance is
very large. '
(D) Yes, because it has very large temperature coefficient of resistance.
w7 TH A % G BT UG RveRmdy (potentiometer) WX % ®9 F BT WY & ¢ I Tehed
T
(A) T8, e sudr ufremar g et TR § |
(B) =, wiftp zged wiigear &9 B § |
(€) &, wiifF TEe TRrdusa B9 A ¥ OF wRIY & aeie 959 it S § |
(D) & w4i% sa% URIY @ Qs S5 oifue B § |

116 Potentiometer measures the potential difference more accurately than a voltmeter, because :
(A) It has a wire of low resistance.
(B) It has a wire of high resistance.
(C) It draws a heavy current from external circuit.
(D) It does not draw current from external circuit.

forvremdy, dvediiex &) g § fywarat ot e ¥ Aaa @, il
(A) THSH AR HH ARAY B F |

(B) T AIX ITT WA B T |

(C) e ¥rely uftuy ¥ SeT oI ol ¥ |

(D) U S ufuy ¥ aw T dan ¥ |

117 In Young's double slit experiment, the monochromatic source of yellow light is replaced by
that of a red one light then fringe width will

(A) increase (B) decrease

(C) remain unchanged (D) disappear

7 % fy-fere T ¥ AR O Wy % wemadll S Bl % AT T A 9 S @ sy

@t B @9 - (2% INDIRESULTE indiresult.in whatsapp - 9352018749
RN € /T ATg indires PP

(C) emfeafda &I (D) g & SR
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118

119

120

121

Correct representation of Boyle's law is -

ot . e 1 fr ¢ - (@ NDiREsuLTE

J

(A) p1 \ | . @®) pT

Vo Vo
©) p1 \ ®) p1
= e~

Which is not correct statement in terms of kinetic theory of gases ?
(A) Gases are made up of small particles called molecules. ;

(B) The molecules are in random motion.

(C)  When molecules collide, they lose energy.

(D) When the gas is heated, the molecules move faster.

et & it ot g S Gl A R Y A e w AR T 7
(A) T gE E Y e T YRR e e ¥
(B) erer %1 afy wghes g-ll ¥ o ~

(C) eropal & Hew @R B UX Holl @Y BT B ¥ |

(D) @ T B X srvpel @Y TR S5 R ¥

Unit of surface tension :

TN T AW THE § - , |
(A) dynes cm2 - (B) ergs/cm
(C©) Jm! D) Nm!

indiresult.in whatsapp - 93‘52018749

The inte_tmal resistance to flow in liquid is called -

(A) Fluidity (B) Specific resistanqe
(C) Viscosity (D) Surface tension
59 % At % AARE TR @ bed ¥ -

(A) g . (B) Ryt gy

©) s (Y, D) I T
MlNDlRESULTE

YOUR SUCCESS PARTNER
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122 Rain drops are spherical in shape because of - C"‘,) IN DI.,RES ULTE

(A) Surface tension (B) Capillary action

(C) Downward motion _ (D) Acceleration due to gravitational force
st # TR ST B ERN ¥, TEH BT -

(A) TS T (B) HIyHHI .

(C) R @1 ofT 7k (D) NSl S % HITOT A AT

123 At room temperature, sodium crystallizes in é body centered cubic lattice with edge length
a=4.24 A. The theoretical density of sodium (At. wt. of Na = 23) is -
Y F A0 T G B Heaw w wew ¥ Ghedipd dan ¥ | e [ @ wa
a=424A ¥ WfREH (Na @1 GO WX = 23) H Hiivn T ¥ -

(A) 1.002 g cm™ : (B) 2.002 g cm™3
(C) 3.002 g cm™3 (D) 4.002 g cm™

124 Which type of 'defect' has the presence of cations in the interstitial sites ?

(A) Frenkel defect , (B) Metal deficiency defect
(C) Schottky defect (D) Vacancy defect
fpg ot @ g ¥ sfaveh wE ¥ oA @ suRgfa €R)l ¥ 7

(A) St e (B) &g = Y/

(C) otteam FEW D) R e/

125 Coordination number of sodium ion in sodiﬁm chloride crystal is -
Hifeaw aiaEe rew § Gifead oEq & g e & -
) 3 | ®) 4
<€ 6 D) 8

126 Which of the following conditions is not correct for ideal solution 7
(A) No change in volume on mixing.
(B) No change in enthalpy on mixing.
(C) 1t obeys Raoult's law.
(D) Tonisation of solute should occurs to a small extent.

PR Qo O Rafy ol e S Ry et i & 7

(A) fuftg & 9T ame § B ufvads T8l el

(B) i w@ W Ol ¥ 615 ulker T gl

(C) UE ST % U BT U B 5

(D) o a1 grfETr B9 B ey | indiresult.in whatsapp - 9352018749
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127

128

129

130

131

The mole fraction of NaCl in a solution containing 1 mole of NaCl in 1000 g of water is -

1 ¥ NaCl % 1000 g i JoRT forerem & NaCl bt et first & -

(A) 00177 (B) 0.001
€ 0.5 (D) 0244('7/ INDIRESULTE

YOUR SUCCESS PARTNER

According to Raoult's law the relative lowering of vapour pressure for a solution is equal
to - ‘

(A) Moles of solute (B) Mole fraction of solvent
(C) Moles of solvent (D) Mole fraction of solute
TR % Fraaar w e & aveE 3 omifie sraase auEl gar § -
(A) Terg % A % (B) fiwiras % W = &

(C) Temas & 9w & (D) fow & A e

How many grams of NaOH will be needed to prepare 250 ml. of 0.1 M solution ?
250 ml 0.1 M faera &Y % R1T NaOH % Ry o &1 smasassar &t 7

(A) lg B) 10¢g

C€) 4g D) o6¢g

Addition reaction of hypochlorous acid with propyne gives the product -

(A) 2, 2-Dichloropropanal (B) 1, 1-Dichloropropanone
(C) 1-Chloropropanone ; (D) 1-Chloropropanal
BRI SR T WaIge Y Oimeres Srfiear ¥ SR o S g
(A) 2, 2-STEERIWS B) 1, 1-SEFRIRMAN

(€) 1w (D)  1-wAIe |

Arrange the following compounds in decreasing order of acidic strength -

ﬁ%ﬁqmﬁﬁm‘ﬁmaﬁgmweﬁ%mﬁmﬁwaﬁm—

QU

|nd|result in whatsapp - 9352018749

(1) (H) (IH)
(A) M>>I, B) I>1>1I
(€ M>>I @O) I>1>1I
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132 Which of the following statements is NOT CORRECT regarding resonance structures of
molecules 7

(A) They have identical arrangement of atoms. (.?/,' INDIRESULTE

(B) They have nearly the same energy. YOUR succe 5 “'” NER
(C) They have same no. of electrons.
(D) They have identical bonding.
s equal | W@amﬂﬁ@aﬂwaﬁmmﬂm%mﬁﬁ%mmmﬁa_ﬁ
(A) b T[Sl @ eERAr §UF Bl § |
(B) 3T G & Tl FIHT GHE B ¥
(C) T e & TEr T ad b |
(D) T 999 ended B ¥ 1

ter is -

133 Staggered conformation of‘ ethane is -
(A) equally stable as eclipsed conformation.
(B) more stable than eclipsed conformation.
(C) less stable than eclipsed conformation.
(D) impossible to exist.
O & waft dew ¥ R F wd we g -
(A) ¥ T FEI B IO @R T ¥
(B) W dwuu & e @l 9 ¥
(C) T G8U § HH W B ¥

(D) o & 78 ¥ |

134 Identify the lowest molecular weight alkane containing a quarternary carbon -
(A) 2, 2-dimethylpropane (B) 2, 3-dimethylbutane
(C)  2-methylbutane - (D) propane ,
Freferfe ¥ & T B S AT ek @ Y R o age w7
(A) 2, 2- TR (B) 2, 3-eEAfmEERA

(©) 2-ufseRH ‘ (D) woT

, , indiresult.in whatsapp 9352018749
135 Reason for less reactivity of benzene than cthene and ethyne towards addition reaction is -

(A) presence of 3mbonds - (B) cyclic nature

(C) sp? hybridizatidn of C atoms (D)  delocalization of ey
ma&mﬁ%ﬁQ@?ﬁrgmﬁﬁmﬁéﬁﬁ?aﬁwﬁmﬁaﬁww%
(A) 3n ¥uf o suRufy (B) =hiT UHl ‘

(C) B S Bl sp? HepTor (D) o @1 R

YOUR SUCCESS PARTHNER ey

pro.  tamsl g (FINDIRESULTE. | pTo
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The correct order of atomic size of C, N, P, S fo]lows the order -
el C. N, P, S % U] SR @ mE ¥ -

(A) N<C<S<P B) N<C<P<S
(C) C<N<S<P D) C<N<P<S§

In the modern periodic table, the period indicates the value of -
(A) atomic number (B) atomic mass

(C) vprincipal quantum number (D) azimuthal quantum number

- oyt sted el § ered Frefated ¥ ¥ frewl @ wwar ¥ ?

(A) TR T (B) WM FAM
(C) Tea waieq g (D) fevigh waien dea

The element that has highest electron gain enthalpy is -

T SHELA Ty ol arell oed § —
(A) F (B) ClI
€ o ' (b) N

The electronegativities of the following elements :

H, O, F, S and Cl increase in the order

et welt 1, O, F, S i Cl % Rig frem seomomear o1 aoar %9 & -
(A) H<O<F<S<Cl B) Cl<H<O<F<S
(C) H<S<O<CI<F (D) H<S<CI<OX<F

The percentage of m character in the orbitals form}ing P—P bonds in Py is -
P, ¥ P-P wwelt g Fiffa weet ¥ g o @ fier ¥ -
(A) 25 B) 33
€ 50 ®) 75
indiresult.in whatsapp - 9352018749

The interhalogen compound that has a dimeric structure is -

aﬁ%@mﬁrﬁmvﬁmmﬁww%,%%—
(A) CIF;s (B) ICl,
(C) BrF, (:'//g INDIRE (D) IF,

LAI-48] g 28 [P.T.O.
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142, Which pump is important in biological reaction in human body ?

(A) Ca-Mg pump (B) K-Fe pump
(C) Na-K pump (D) Fe-Ca pump
e o ¥ S R 3 AF- U TeEqd ¥ 7

(A) Ca-Mg 49 (B) K-Fedu
(C) Na-K ug (D) Fe-Ca Uq

143 The vapour density of completely dissociated NH,Cl is -
(A) double than that of NH,CI
(B) half than that of NH,Cl
(C) same as that of NH,Cl
- (D) determined by the amount of solid NH,CI taken
quie: Rt NH,CL 1 &g &t 0 —
(A) NH,Cl @& g1
(B) NH,CI =1 aen
(C) NH,Cl & gHH
(D) fw g 2| NH,Cl @ =1 & fraffa som

144 Acidity of BF; can be explained on the basis of which of the following concepts ?
(A) Arrhenius concept '
(B) Lewis concept
(C) Bronsted-Lowry concept
(D) Bronsted—LoWry as well as Lewis concept

BF, @ smetaar P & § fee frgra % oTER TR RS ST g ¥ 7
(A) SITEHTY e 9T

(B) H S@uIO WX

(C) SIRLE- ST I

(D) TEE qUT FRLS-ATY STERON qMl % SMER I

145 When some acid is added to water, the ionic product of water -
(A) changes with an increase in pH. '
(B) changes with a decrease in pH.
(C) remains unchanged.
(D) becomes zero.
o § o & FE AT P I U S w1 ST [UNhA -
(A) pH ¥ gfg & g ufafda g 31
(B) pH ¥ &1l % a1y ufakia gar &

(©) @ uikad | indiresult.in whatsapp - 9352018749
(D) Ts‘ﬂ?ﬂ gl
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One litre of a buffer solution containing 0.01 M NH,CI and 0.1IM NH,OH having pK, of

5 has pH of -

U W1 9T e 7 0.01 M NH,Claer 0.1M NH,0H ¥ | 263 fig pK, &l A 5 &
gg@r pH Bl -

{A) 9 , B) 10

(Cy 4 , D) 6

1f pH of solution is 5.2, then its pOH will be -

afy gy i%zww pH 5.2 % @ 39 pOH &rm —
(A) 438 B) 5.8
() 6.8 | (D) 8.8

Which of the following solution acts as a buffer ?

Frt & § B fraaT au % e e s &7

(A) HCl+ NaCl ‘ (B) NaOH + HCI ,
(C) CH;COOH + CH;COONa (D) HCOOH + HCOONH,

The total pressure of a mixture of two gases is -

(A) The sum of partial pressure of each gas

(B) The difference in partial pressure of both the gases
(Cy The product of partial pressure of both the gases
(D) The ratio of partial pressure of both the gases

feoeel < Tt % frgor @1 e T ¥ -

(A) wE N9 & il g @& g

(B) =M &t & aifyre =@ @1 o

(©) = |l & orifo =19 @1 Juewa

(D) o | & wrifyes T @ e

In ideal gas equation PV = nRT, which one cannot be the numerical value of R ?

(A) 8314 %107 erg mol~! K-!

(BY 8314 Jmol-! K-!

(C) 8.314 Pa m® mol~! K-!

(D) 8.314 atm mol~! K1

amast g & et PV = nRT ¥, ﬁmq@faﬁamRmnﬁlﬁmwﬁﬁm?
(A) 8314 x 107 arif w1 K-

(B) 8314 3@ #Arr! K-

(C) 8314 urepd Hize? dra! K- ‘ |
(D) 8.314 argAvsw ! K- indiresult.in whatsapp - 9352018749
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